Potencias de 10 (C)

0,137 +0,01

7,579+ 0,01

9,98 +-0,001

1,789 =10

7,342 +1

5112+ 1

5,104+ 10

7,943 +0,1

6,368 0,001

6,706 + 10

Calcule los siguientes cocientes.

4,444 20,1

2,564+ 0,01

1,038 +-0,001

9,873+0,1

1,974 =-1000

5,457 -+0,001

9,6+0,001

0,458 +0,1

1,837--1000

5,818 +0,01
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Potencias de 10 (C) Respuestas

0,137=0,01
13,7
7,579+0,01
757,9
9,98+ 0,001
9.980
1,789+ 10
0,1789
7,342 =1
7,342
51121
5,112
5,104 = 10
0,5104
7,943 =0, 1
79,43
6,368 +-0,001
6.368
6,706 = 10
0,6706

Calcule los siguientes cocientes.

4,444+ 0,1
44,44
2,564 +0,01
256,4
1,038 =0,001
1.038
9,873 +0,1
98,73
1,974+ 1000
0,001974

5,457 +0,001
5.457
9,6-0,001
9.600
0,458 0, 1
4,58
1,837 = 1000
0,001837
5,818 0,01
581,8
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